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1. The figure below shows a micrometer screw gauge used to measure the diameter of a metal rod. When the rod is removed and the jaws of the micrometer screw gauge are closed, the reading is 0.12mm. Determine the diameter of the rod. (2 marks)

                                              [image: 8 004]




2. A metre rule is suspended by a thread such that it is in equilibrium balanced by a permanent magnet attached to the metre rule and some weight as shown in fig. bellow [image: 8CEA4DD3]
If the soft iron is fixed to the bench, state and explain the effect on the metre rule when the switch is closed.								(2 mks)




3. The figure below shows the object, formed in a concave mirror. Complete the ray diagram to show the position of the object.						(2 mks)
 (
I
)[image: DAADC8]

4. The figure below shows a flask air tightly fitted with a glass tube dipped into a beaker containing water at room temperature.
                              [image: 8 006]

      State giving a reason what is observed when ice-cold water is poured on the flask. (2 marks)



5. The figure below shows an athlete lifting weights while standing with the feet apart.

                               [image: 8 007]

              Explain why standing with the feet apart improves the athlete’s stability. (2marks)




6. a) State Hooke’s law. (2mks)



b) Define the following terms (4mks)
        i. Strength


        ii. Stiffness


        iii. Elasticity


        iv. Ductility


c. An object of weight 20N attached at the end of a spring causes an extension of 0.5cm on the spring.
a. Determine the spring constant of the spring. (2 marks)







b. Determine the weight of an object that would cause an extension of 0.86cm when attached at the end of the same spring. (2 marks)







7. The figure below shows a uniform triangular lamina.






	Locate the centre of gravity of lamina.							(2mks)

8. State three reasons why a liquid and not a gas is used as a hydraulic brake fluid.		(3mks)









9. (a)	Define the moment of a force.					(2 mks)


							3
(b) A uniform metre rule of mass 100g is balanced by suspending a 10g mass and a 20g mass 
on its ends as shown below.

 (
20g
1
0g
)






		

		Determine the position of the pivot.					(3 marks)







10. (a) Define a wave. (2mks)



(b)State two types of waves and give an example in each case (2mks)



(c) Explain the meaning of the following terms as used in waves (6mks)
      (i) Frequency


      (ii) Period


      (iii) Wavelength

(c) Differentiate between longitudinal and transverse waves (2mks)



11. Explain why the smell of rotten eggs broken at one end of the room soon spreads throughout the room. (2marks)







12. (a) State the law of magnetism (2mks)






(b) Describe magnetism using Domain theory (4mks)
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(1) What is the polarity of end C of the magnet? (1 mk)

(ii) Draw the set up of the magnets as seen from above and sketch the magnetic field lines in
the region between B and C. (1 mk)
A metre rule is suspended by a thread such that it is in equilibrium balanced by a permanent

magnet attached to the metre rule and some weight as shown in fig. 4 below.
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Fig. 4 Bench‘l Switch

If the soft iron is fixed to the bench, state and explain the effect on the metre rule when the

switch is closed. (2 mks)

Figure /0 shows a ray of white light incident on one face ,t‘ a triangular prism, a spectrum is
observed on a screen on the other side of the prism. Draw a labeled diagram to show the path

of differently coloured rays which produces the spectrum observed on the screen. (3 mks)

creen

Fig. 5

Study the circuit shown in fig. 6 below.





